
MATHS

BOOKS - S CHAND MATHS (ENGLISH)

MODEL TEST PAPER -11

Sections A

1. If , then the value of  is

A. A

B. B

C. 

D. None of these

Answer: B

W t h Vid S l ti

A ⊆ B A ∪ B

ϕ

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7jzeuGW5JYnc


Watch Video Solution

2. In a , cos (A + B) + cos C =

A. 2 cos C

B. 

C. 0

D. 1

Answer: C

Watch Video Solution

ΔABC

−1

3. Value of  =

A. 

B. 

C. 

sin ⋅ sin ⋅ sin
π

18

5π

18

7π

18

1

22

1

24 − 1

1

22 − 1

https://dl.doubtnut.com/l/_7jzeuGW5JYnc
https://dl.doubtnut.com/l/_C2UP0paWmvdl
https://dl.doubtnut.com/l/_Wo4cERYDEt5V


D. 

Answer: B

Watch Video Solution

1

23 − 1

4. Find the 4th term from the end of the G.P. 

A. 18

B. 27

C. 6

D. 3

Answer: C

Watch Video Solution

, , , ,  162.
2

27

2

9

2

3

https://dl.doubtnut.com/l/_Wo4cERYDEt5V
https://dl.doubtnut.com/l/_aGTtV6xZMHdW


5. If one root of the equation  is the reciprocal of the

other root, then

A. a + b = 0

B. a - b = 0

C. a - c = 0

D. b - c = 0

Answer: C

Watch Video Solution

ax2 + bx + c = 0

6. The coefficient of  term from end in the expansion of 

 is

A. 

B. 

C. 

11th

(2x − )
25

1

x2

−25C15

25C15

−25C16

https://dl.doubtnut.com/l/_QJaQ9OQZjOKd
https://dl.doubtnut.com/l/_OG3cwA9lgOhl


D. 

Answer: A

Watch Video Solution

25C16

7. The least positive value of n if  = 1 , is (a)1
(b)5
(c)4
(d)6

A. 1

B. 5

C. 4

D. 6

Answer: C

Watch Video Solution

( )
n1 + i

1 − i

8. A circle centre (1,2) touches y-axis. Radius of the circle is

https://dl.doubtnut.com/l/_OG3cwA9lgOhl
https://dl.doubtnut.com/l/_4CSmY707XBAy
https://dl.doubtnut.com/l/_0NKf04oFU7au


A. 2

B. 3

C. 1

D. 4

Answer: C

Watch Video Solution

9. Sum of the intercepts cut off by the line 2x + 3y = 6 on the axes is

A. 

B. 6

C. 5

D. 1

Answer: C

Watch Video Solution

5

6

https://dl.doubtnut.com/l/_0NKf04oFU7au
https://dl.doubtnut.com/l/_FBXbOovENetP


10. Find the coefficient of 
in the expansion of 

A. 672

B. 627

C. 726

D. None of these

Answer: A

Watch Video Solution

x6y3 (x + 2y)9.

11. Let P(n) be the statement . If P(n) is true , prove that P(n

+ 1) is true.

Watch Video Solution

' ' (3)n > n' '

https://dl.doubtnut.com/l/_FBXbOovENetP
https://dl.doubtnut.com/l/_Bau3X8S6Th4R
https://dl.doubtnut.com/l/_svJoSGsozsed


12. If , find the values of x and y.

Watch Video Solution

( + 1, y − ) = ( , )
x

3

2

3

5

3

1

3

13. Evaluate : 

Watch Video Solution

lim
x→ π

2

tan 2x

x − π

2

14. If  , find 

Watch Video Solution

f(x) = ( )
secx − 1

secx + 1

1
2

f'( )
4π
3

15. A die has two faces each with number 1, three faces each with number

2 and one face with number 3. If the die rolled once, determine
 
 (b) 


(iii) 

Watch Video Solution

P (1)

P (1 or 3) P ( ¬3)

https://dl.doubtnut.com/l/_yDYub0sAovT6
https://dl.doubtnut.com/l/_KNQlsLiBFINI
https://dl.doubtnut.com/l/_vszncCjiTrUU
https://dl.doubtnut.com/l/_UCC9gV2M7Wvj


16. Let  be two real functions. Find 

 . Also, state its domain

Watch Video Solution

f(x) = x2 and g(x) = 2x + 1

( )(x)
f

g

17. In a class of 35 students, 24 like to play
 cricket and 16 like to play

football. Also, each student likes to play at
 least one of the two games.

How many students like to play both cricket and
football?

Watch Video Solution

18. In  , if a = 3, b = 4 and sin B = 1 , find sin A

Watch Video Solution

ΔABC

19. The minute band of a watch is 1.5 cm long. How far does its tip move in

40 minutes ? (Use  = 3 . 14)π

https://dl.doubtnut.com/l/_957AmEnjXI9B
https://dl.doubtnut.com/l/_SbySIGwU5btT
https://dl.doubtnut.com/l/_lsfpU2rFFlWQ
https://dl.doubtnut.com/l/_7r5YrWoXzLQA


Watch Video Solution

20. Prove that  = tan x

Watch Video Solution

sin 5x − 2 sin 3x + sinx

cos 5x − cos x

21. If 

Watch Video Solution

z1 = 2 − i, z2 = 1 + i,  find 
∣
∣
∣

∣
∣
∣

z1 + z2 + 1

z1 − z2 + 1

22. Find the quadratic equation whose roots are the reciprocals of the

roots of the equation 

Watch Video Solution

x2 − cx + b = 0

23. Find the domain of the function 

Watch Video Solution

f(x) = √4 − x +
1

√x2 − 1

https://dl.doubtnut.com/l/_7r5YrWoXzLQA
https://dl.doubtnut.com/l/_xaupEytlA2Oa
https://dl.doubtnut.com/l/_Jnbtncj4gLAe
https://dl.doubtnut.com/l/_ZPNXSIlLivlA
https://dl.doubtnut.com/l/_2ydIiZzasxug


24. Prove that: (sin 3 x +sin x) sin x + (cos 3x - cos x) cos x = 0

Watch Video Solution

25. Prove that 

Watch Video Solution

= 1
tan 3x. cos 4x + cos 3x. tan 3x + tan 3x. cos 2x

sin 4x + sin 3x + sin 2x

26. Differentiate w.r.t. 'x' from first principles f (x) 

Watch Video Solution

= √4 − x

27. Find the number of words with or without meaning which can be

made using all the letters of the word AGAIN. If these words are written

as in a dictionary , what will be the 50th word ?

Watch Video Solution

https://dl.doubtnut.com/l/_2ydIiZzasxug
https://dl.doubtnut.com/l/_JLoNf0qFoH89
https://dl.doubtnut.com/l/_Eju6va7DH5aS
https://dl.doubtnut.com/l/_pXKXbq4k6qad
https://dl.doubtnut.com/l/_aT0qb7DPUbfA


28. In an examination, a question pater consists of 12 questions divided

into two parts i.e., Part I and Part II, containing 5 and 7 questions,

respectively. A student is required to attempt 8 questions in all, selecting

at least 3 from each part. In how many ways can a students select the

questions ?

Watch Video Solution

29. Show that A.M. of the roots of  is equal to the G.M.

of the roots of the equation  and vice- versa.

Watch Video Solution

x2 − 2ax + b2 = 0

x2 − 2bx + a2 = 0

30. Solve for real 

Watch Video Solution

x : < 1, x ≠ − 2
x + |x + 3|

x + 2

https://dl.doubtnut.com/l/_aT0qb7DPUbfA
https://dl.doubtnut.com/l/_DOwtxRLkzDrd
https://dl.doubtnut.com/l/_qCCTkEIq6pWm
https://dl.doubtnut.com/l/_uaH4DdJ1dFu0


31. Show that 

Watch Video Solution

=
1 × 22 + 2 × 32 + . . . + n × (n + 1)

2

12 × 2 + 22 × 3 + . . . + n2 × (n + 1)

3n + 5

3n + 1

32. Find the distance of the line 
 from the point P(4, 1)

measured along the line making an angle of 
with the positive xaxis.

Watch Video Solution

4x  -y  =  0

135o

33. Find the equation of circle passing through the point (2,3) and (-1,1)

and whose centre is on the line x - 3y - 11 = 0

Watch Video Solution

34. The mean and standard deviation of a group of 100 observations were

found to be 20 and 3 respectively. Later on it was found that three

observations were incorrect , which were recorded as 21, 21 and 18 . Find

https://dl.doubtnut.com/l/_7lIBXIbOmCwd
https://dl.doubtnut.com/l/_uuDH3Y71olMo
https://dl.doubtnut.com/l/_4fmsGskVcsA4
https://dl.doubtnut.com/l/_A62Eq7MdK85K


Sections B

the mean and standard deviation if the incorrect observations are

omitted.

Watch Video Solution

1. In the hyperbola , the value of eccentricity is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

16x2 − 9y2 = 144

1

3

4
3

5

3

7
3

https://dl.doubtnut.com/l/_A62Eq7MdK85K
https://dl.doubtnut.com/l/_PlQjEG7HDQNZ


2. The coordinates of a point are (1,-3,3), the point lies in

A. (a)II octant

B. (b)VIII octant

C. (c)I octant

D. (d)IV octant

Answer: D

Watch Video Solution

3. Find the equation of the ellipse of major axis is along x - axis, centre is

at origin and it passes though the point (4,3) and (6,2)

Watch Video Solution

4. Find the value of k so that the line y = 3x + k is a tangent to the

parabola y2 = − 12x

https://dl.doubtnut.com/l/_IPEORbZgVsRB
https://dl.doubtnut.com/l/_DLTkvO1hGSMF
https://dl.doubtnut.com/l/_ZITeL54x4eRh


Watch Video Solution

5. Write the negation of the following statement: There is a complex

number which is not a real number.

Watch Video Solution

6. Write the negation of the following statements : 

Both diagonals of a rectangle have the same length

Watch Video Solution

7. Write the negation of the following statement: all triangles are not

equilateral
triangles.

Watch Video Solution

https://dl.doubtnut.com/l/_ZITeL54x4eRh
https://dl.doubtnut.com/l/_uKvHgDxSm329
https://dl.doubtnut.com/l/_ab880v1x7bvT
https://dl.doubtnut.com/l/_BBfGXgoYZRGN


8. Check the validity of the following statement : If a, b are integers such

that ab is odd, then both a and b are odd.

Watch Video Solution

9. Find the equation of tangent to the ellipse  that

perpendicular to the line . Also, find the point of contact .

Watch Video Solution

+ = 1
x2

4

y2

2

y = x + 1

10. In each of the following find the equations of the hyperbola satisfying

he given condition: foci 
latus rectum

Watch Video Solution

(0, ± 12) = 36

11. Find the coordinates of a point equidistant from the four points

O(0,0,0), A(p,0,0), B(0,q,0) and C(0,0,r)

https://dl.doubtnut.com/l/_6OeMU6tczakM
https://dl.doubtnut.com/l/_LucH4RLNwh7Y
https://dl.doubtnut.com/l/_bcW91JQjuXv7
https://dl.doubtnut.com/l/_2Fb7P4q0F7Cx


Sections C

Watch Video Solution

1. If a machine cost Rs. 10000 in 2015 and Rs. 15000 in 2018, then find the

price relative.

A. 150

B. 250

C. 100

D. None of these

Answer: A

Watch Video Solution

2. The relation between  isQ3 and P75

https://dl.doubtnut.com/l/_2Fb7P4q0F7Cx
https://dl.doubtnut.com/l/_kKJE5oqY0MVx
https://dl.doubtnut.com/l/_wpE1xCR0SFKT


A. (a)

B. (b)

C. (c)

D. (d)

Answer: B

Watch Video Solution

Q3 < P75

Q3 = P75

Q3 = P25

Q3 ≠ P75

3. If  , find the price index number for

current year relative to base year.

Watch Video Solution

∑ p1 = 176 and ∑ p0 = 100

4. For the data  compute 

Watch Video Solution

14, 7, 13, 12, 13, 17, 8, 10, 6, 15, 18, 21, 20, P80

https://dl.doubtnut.com/l/_wpE1xCR0SFKT
https://dl.doubtnut.com/l/_DYcJOFRCV1JU
https://dl.doubtnut.com/l/_SMr9iweFHbix
https://dl.doubtnut.com/l/_YQbcz4TL1cTH


5. If upper quartile and inter-quartile range of a data are 55 and 5

respectively, then find the value of lower quartile

Watch Video Solution

6. Given  


Find the combined standard deviation.

Watch Video Solution

n1 = 50, n2 = 40, σ1 = 9, σ2 = 6, d1 = 4, d2 = 5

7. Find the first decile for the following data: 

Watch Video Solution

Size 0.10 10 − 20 20 − 30 30 − 40 40 − 50 50 − 60 60 − 7

Frequency  2  18  30  45  35  20  6

8. The coefficient of correlation for the variables x and y is 0.9926 from

following data : 

 

X 18 20 25 30 31 32

Y 21 22 28 32 35 36

https://dl.doubtnut.com/l/_YQbcz4TL1cTH
https://dl.doubtnut.com/l/_pnsHP9geSTT6
https://dl.doubtnut.com/l/_E7w2zPupKYFN
https://dl.doubtnut.com/l/_4ZtOLyqlKmrv


Find the change in the correlation coefficient if each value of x in

multiplied b 3 and subtracted by 4 and each value of y is multiplied by 2

and increased by 3.

Watch Video Solution

9. First the rank correction coefficient of the following data : 

Watch Video Solution

Serles A 115 109 112 87 98 120 98 100 98 118

Series B 75 73 85 70 76 82 65 73 68 80

10. The table below gives details of the electricity generated in kilowatt

hours in each quarter for the years 2012 to 2014 

 


Calculate the four-quarterly moving averages and display these and the

original figures on the same graph .

https://dl.doubtnut.com/l/_4ZtOLyqlKmrv
https://dl.doubtnut.com/l/_0BtovFTqhXkG
https://dl.doubtnut.com/l/_tqJDVjJPERkp


Watch Video Solution

https://dl.doubtnut.com/l/_tqJDVjJPERkp

